Class Announcements
AnsT LAg: Soi'wzclay, Dec 'é'm, |>30-4:30

Evan lll = Tuesday Dec 6 1a: 45215, Iv cfhss
’Keweu Suquy jec W 3 OO It:4S PH, ISR 138

Finae Evonn - ﬁesc{ay Mec léth 900 -10-00gM, ISB 15
(Reweu Sumfay :Dec H Ioo .’130/»1 ISB 135

Slide - 1



8.11 How do We Calculate the pH of a Buffer?

Qcid Dase

A buffer solution made from HF and KF has a pH of
2.84. If the pKa for HF is 3.14, what is the

[F-1/[HF] in the buffer?
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9.3

Nuclei Stability Zone?

Number of neutrons
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Number of neutrons

9.3 What Happens When a Nucleus Emits Radioactivity
B — Beta Emission (°_e)
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MNumber of neutrons
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What Happens When a Nucleus Emits Radioactivity
C - Alpha Emission (4,He)
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Number of neutrons
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What Happens When a Nucleus Emits Radioactivity

D - Positron Emission (°,,€)
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Number of neutrons
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What Happens When a Nucleus Emits Radioactivity
F — Electron Capture
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4.5 Stoichiometry — Lab Owl — Review - Lab Owl 3

of K,CO; as there are in 36.9 mL of a 0.155 M solution of K,CO;7 _
000 v

/ What volume of a 0.286 M solution of K,CO; contains the same number of moles \

=

M= 58 o #ad = My

#mol Ke€O3 = 0.155X 0.0369 = S.7%¥10 mo? KaCOs

#onod HaC0s = M xy(1)
S2x10°° = 0.286 x\(L)
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